
DAILY BASIS ASSIGNMENT

DAY: TUESDAY STD: IV DATE:21.04.2020

Read the following sentences and pick the common noun from the options
given below.

1) They were flying kites.
a) flying
b) kites
c) were
d) They

2) Radha bought a bicycle for her brother.
a) bicycle and brother
b) Radha and bicycle
c) brother and Radha
d) bought and brother

3) I forgot my umbrella at home.
a) forgot and my
b) umbrella and I
c) my and I
d) umbrella and home

4) Agra is on the bank of river Yamuna.
a) bank and river
b) bank and Agra
c) Yamuna and Agra
d) river and Yamuna

4) Jane my sister wants to be an air hostess.
a) Jane and air hostess
b) sister and Jane
c) sister and air hostess
d) Jane and air hostess



SUBJECT : MATHEMATICS

Choose the correct option

1. The greatest 5 digit number formed by using 2, 3, 5, 0, 9 is ________ .

a) 35209 b) 95320 c) 02359 d) 95230.

2. Predecessor of 63540 is _________ .

a) 63538 b) 63539 c) 63540 d) 63541.

3. __________ = Given number + 1.

a) Successor b) Predecessor c) Sum d) Difference.

4. The smallest 6 digit number formed by using 4, 8, 0, 6, 1, 7 is ________ .

a) 140867 b) 014678 c) 140687 d) 104678.

5. 53296 is greater than ________ .

a) 95236 b) 96235 c) 32695 d) 63295.

SUBJECT: EVS

Choose the correct answer:

1. Our nose helps us to
a. See
b. Smell
c. Taste
d. Hear

2. Mother’s mother is called
a. Aunt
b. Maternal grandmother
c. Paternal grandmother
d. Grand daughter

3. A bad touch makes us feel
a. Comfortable
b. Uncomfortable
c. Happiness
d. Sadness



4. Hugging our grandparents is a
a. Good touch
b. Untouchable
c. Bad touch
d. Touch me not

5. We can feel hot and cold things with the help of our
a. Eyes
b. Nose
c. Skin
d. Ears

SUB –COMPUTER

Choose the best options from those given below :-

1) IC was invented in

a) 1958 b) 1954 c) 1955 d)1956

2) Who invented Difference Engine?

a) Pascal b) Abacus c) Charles Babbage d) IBM

3) Blaise Pascal invented Calculator in

a) 1640 b) 1641 c) 1642 d)1643

4) What helps computer to operate and control it

a) Hardware b) Software c) Games d) Monitor

5) A large constellation of ICs is

a) IPO b) Abacus c)IBM d)Chip



�वषय : �ह�द�
नीच �ेदए गए ब��वक�पीय ��� का सही उ�र चनुकर �लख�।
1.भारत क� मातभृाषा �या ह?ै
क) �ह�द� ख) अ�ंजेी ग) फारसी

2.भाषा के �कतन �ेकार होत हे�?
क) 4 ख) 1 ग) 2

3.”मरेा नाम राधा ह”ैस�ंा श�द चनुो –
क) है ख) मरेा ग) राधा

4.स�ंा के �कतन �ेकार होत हे�?
क) 5 ख ) 3 ग) 1

5. नाम वाल शे�द को ........कहत हे�।
क) सव�नाम ख) स�ंा ग) ��या
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